Pedestal Distribution (average fADC count between 8 - 80 ns)
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Amplitude Distribution (no pedestal subtraction)
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Integral Distribution (no pedestal subtraction)

MIII|IIII|IIII|IIII|III

hintO

Entries

Mean

Std Dev

Underflow

Overflow

100000

4.533e+04

183.9

0

0

— sum64
—— dynode
quadl
— quad2
quad3
— quad4
quadsum

MIIII'IIII

40000 45000 50000 55000 60000 65000 70000 75000 80000
Integral [TADC Counts]




Amplitude Distribution (with pedestal subtraction)
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Integral Distribution (with pedestal subtraction)
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Amplitude (pedestal subtracted)
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Integral (pedestal subtracted)

hintSub_2D )
__I | T | T | T | T | T | T | T | T Entries 100000
B Mean x 128.7
[ Meany  94.24|
N . |stdpevx 19717
- .. stdDevy 1847
B of 2| 11
- 1/99973 9
- 3l 1| o
- 1 15
- 1810
- B E
__I | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | I__ O

-400 -200 O

200 400 600 800 1000 1200 1400
sumo64



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


